™ INFINITY CANOPY s [ [ev]
BASE STRUCTURE 10F 2
10-6" DESCRIPTION | [uNiT |
<75'-3"4+75'-3"4> 1 oFl
| DATE | QUOTE # | MATERIAL |
aala ataa ALUMINUM

10'-

o"

CANOPY PROVIDED

/ BY OTHERS
“\
X
RAFTER
(2" x 3" x.125")
Y
Y
4 BEAMS
(4" x 4" x .125")
7'-1"
; P
L 10-10" J
[ i

10'-8"

%

4 POSTS
(4" x 4" x .125")

o w—

]0!_4"

. _r

Qa

CUSTOMER

PROJECT |

DRAFTER |

ESTIMATOR |

| COMPONENTS |

NOTES |

1.

Conceptual Rendering: It is the customer's responsibility
to ensure design accuracy and compatibility with site.

2. Unless specified otherwise, standard assembly

hardware is included. Ground and wall attachment
hardware must be supplied. For specific requirements,
discuss with your Estimator.

3. Custom structures are designed using standard

engineered connections. If a stamped plan set is
required, request pricing from your Estimator. Design
modifications/price changes may be required upon
review by engineer.

4. Materials may require modification at installation.

LEGEND | <L> LABEL

@ ENGINEERING REQUIREMENT @ SPLICE

/6\ REVISION
<o> OPEN END
@ FINISHED END

@ APPEARANCE GRADE

W BLUE LOCTITE

@ TEAM LIFT

=

.0’0‘ 844-422-6679

| N FINITY WWW.NANTYCANOPY.COM
Y

|
CANOP

c




CANOPY LAYOUT

M) NFINTY cANopY [T e
BASE STRUCTURE 2 0F 2
DESCRIPTION UNIT

1 oF 1

9'.5" 6'-5" 4'-1" 11" 0'-0"
A A a8 8 8
I ] i T i
10-0"
1 l T s
v v T T
10'-6"

DATE QUOTE # | MATERIAL |

ALUMINUM
| CusTOmeR |

PROJECT |

DRAFTER | ESTIMATOR |

| COMPONENTS |

NOTES |

1. Conceptual Rendering: It is the customer's responsibility
to ensure design accuracy and compatibility with site.

2. Unless specified otherwise, standard assembly
hardware is included. Ground and wall attachment
hardware must be supplied. For specific requirements,
discuss with your Estimator.

3. Custom structures are designed using standard
engineered connections. If a stamped plan set is
required, request pricing from your Estimator. Design
modifications/price changes may be required upon
review by engineer.

4. Materials may require modification at installation.

LEGEND | <L> LABEL

@ ENGINEERING REQUIREMENT @ SPLICE

A REVISION @ APPEARANCE GRADE

<o> OPEN END W BLUE LOCTITE
@ FINISHED END @ TEAM LIFT

“!4

== 2 844-422-6679

| N F N ITY WWW.INFINITYCANOPY.COM
Y

|
CANOP

c




- 51_3" »

- 10'-

6" -

- 51_3" »

Afjf
//
O Oriiees \1 RAFTER
(2" x 3" x .125")
22I_oll -
11-2" > 10-10" -
\ BASE STRUCTURE

N — oo
Il

10-10" —— 10-10" -

21 |_8||

\3 BEAMS

(4" x 4" x .125")

2 POSTS
(4" x 4" x .125")

BASE STRUCTURE

10-8"

.

[}

10-4"

Y

M | ALUMINUM CANOPY S5/ Y]
ADD-ON STRUCTURE 10F 1
DESCRIPTION | UNIT
1oF1
DATE QUOTE # | MATERIAL
ALUMINUM
| CUSTOMER |
PROJECT |
DRAFTER | | ESTIMATOR |
| COMPONENTS |
QTY | COMPONENT MATERIAL COLOR
3 BEAM ALUMINUM
RAFTER ALUMINUM
2 POST ALUMINUM

-

NOTES |

1. Conceptual Rendering: It is the customer's responsibility
to ensure design accuracy and compatibility with site.

2. Unless specified otherwise, standard assembly
hardware is included. Ground and wall attachment
hardware must be supplied. For specific requirements,
discuss with your Estimator.

3. Custom structures are designed using standard
engineered connections. If a stamped plan set is
required, request pricing from your Estimator. Design
modifications/price changes may be required upon
review by engineer.

4. Materials may require modification at installation.

LEGEND |

(1) ENGINEERING REQUIREMENT

<I> LABEL
@ SPLICE

<A> APPEARANCE GRADE

W BLUE LOCTITE

@ TEAM LIFT

844-422-6679
N ITY WWW.INFINITYCANOPY.COM
Y




POST ATTACHMENT DETAIL - CONCRETE

U BRACKET INTERNAL
304 STAINLESS STEEL
FOR 4" x 4" x 1/8" TUBE

3/8"-16 X 6" THREADED ROD
304 STAINLESS STEEL

N

;
/

3/8" FLAT WASHER 1" O.D.

304 STAINLESS STEEL

3/8"-16 ACORN NUT
304 STAINLESS STEEL

3/8"-16 HEX NUT
304 STAINLESS STEEL

3/8" FLAT WASHER 1"
304 STAINLESS STEEL

>

CONCRETE \

y_J

AN \ EPOXY

O.D.

POST ATTACHMENT DETAIL - DECK FRAMING

U BRACKET INTERNAL
304 STAINLESS STEEL
FOR 4" x 4" x 1/8" TUBE

3/8"-16 X 3 1/2" THREADED ROD
304 STAINLESS STEEL

\

~

d

3/8" FLAT WASHER 1" O.D.
304 STAINLESS STEEL

3/8"-16 ACORN NUT
/ 304 STAINLESS STEEL

3/8" FLAT WASHER 1" O.D.
/ 304 STAINLESS STEEL

DECKING

BACK PLATE / i

|

v

3 \ JOISTS

3/8" FLAT WASHER 1" O.D.

304 STAINLESS STEEL

3,/8"-16 HEX NUT
304 STAINLESS STEEL

‘_—"\
WOOD SCREW

(NOT PROVIDED)

TITLE | SHEET | REV |
INFINITY CANOPY STRUCTURE| 1 oF 1 1

DESCRIPTION |
CONCRETE AND DECK MOUNT DETAIL

INITIAL RELEASE | SCALE

02/27/20 1:3

NOTES |

....0‘!4

<

| N F N |T Y WWW.INFINITYCANOPY.COM
Y

844-422-6679

|
CANOP




